PN 02 AOL / PN 02 AOS
FE /1 A3k, DKOL / DKOS

HANSAVFLEX

]

R FAsEE WEHEAR

01 KR RFIRLG
BHERX 1  HOWEM24° I
4 R DKOL

LY ISO 8434-1

R$ ]

RERP BERE

on!
1

T =1

r’Bx

S ENFEPMH 102,

® &

Z£RT ATENE-O
(mm)

PN 02 AOL 04 2 1 5/64" L 6 M12x1.5 35,0 14 40x1.5
PN 02 AOL 06 2 1 5/64" L 8 M14x1.5 35,0 17 6.0x1.5
PN 02 AOL 08 2 1 5/64" L 10 M16x1.5 36,5 19 75x1.5
PN 02 AOL 10 2 1 5/64" L 12 M18x 1.5 37,5 22 9.0x1.5
PN 02 AOS 03 2 1 5/64" S 6 M14x1.5 35,0 17 40x15
PN 02 AOS 04 2 1 5/64" S 8 M16x1.5 35,0 19 6.0x1.5
PN 02 AOS 06 2 1 5/64" S 10 M18x 1.5 36,5 22 75x%x15
PN 02 AOS 08 2 1 5/64" S 12 M20x 1.5 37,5 24 9.0x15

DN = IEER MERE - FHRILL=3FEE =R S=&E

RELZI T FAFH BB ETEHBRR EERY TTRE X TR BB 15 B BAEAR L AT RIDHE I F Ao
23.07.2025 HANSA-FLEX AG

www.hansa-flex.com



